P} 8] 37 27135 P B 3
IFIA] A A, SR B R FR S Zevd:, AR SR AN
vy, =K+ab' (1)

TEMCECERE T R = ANSHK a R b 2 7 5 E R i
FE A P A ) n ASIEMESE o o =887, &EE m ], B n=3m.

%—‘%ﬂﬁ\: ypyzaK sV s

R IUAY .
;E'—‘ﬁlzéj : ym+1’ym+2’K ’y2m )
;E'—Aﬁlzéj H yZm+1’yZm+2’K ’y3m

SRR B BAE 2 FNEET AN O EE 2 A, A ks B S 8hiHE . = A0
PP
1O B E ) -3 2

7 2m 3m
S=29.5%=> 5.5=> @
=1 t=m+1 t=2m+1
H
S, ZZﬁt =Z(K+ab’)=mK+ab(1+b+b2+L b
t=1 t=1
2m 2m
S,=> 9= (K+ab')=mK +ab""'(1+b+b>+L b"™) 3)
t=m+1 t=m+1
3m 3m
S;= 2 b=, K+ab')=mK +ab™"'(1+b+b>+L b"™")
t=2m+1 t=2m+1
HT
(+b+b +L b" )b =1)=b" -1 (4)

TUARIE TR 2k v = vie® , 19

m—1

S, =mK +ab
b

m—1

mir b
S, =mK +ab"" — (5)

m—1

S, =mK +ab™""' :—




1
SZ_SI

b-1
a=(S, —Sl)m (6)
K:i{g—“myﬁ%q
m b-1

=ASHERHE, TR D, =K +ab" AT



